
Dodge Ram 1500 TRX – 2021+ 
Installation Instructions 

 
 

 
QTY DESCRIPTION 

8 #10 X 1-1/2" HEX SCREWS 
8 SMALL BLACK WASHERS 
8 LARGE 1/4" FENDER WASHERS 

 
 

 

 
Front Mud Flap installation 

 
Important: It is recommended to read through all instructions prior to starting install 

1. Remove Factory screws on fender well.  
(FIGURE 1) 

2. With logo facing the rear begin installation by 
fastening mud flap at location A in fender well 
using #10 screws with Small and Large 
washers. (FIGURE 2). 

3. Align remaining holes in flap with 
corresponding factory mounting locations (B, 
C & D) Fasten using #10 screw with Small 
and Large washers (FIGURE 3). 

4. Using a level on bottom of flap or align with 
outside of tire, adjust as needed to ensure 
flap is aligned vertically and horizontally to 
your preference.  

5. Tighten all fasteners & Repeat above steps 
for opposite side 

 

QTY DESCRIPTION 
8 #10 X 1-1/2" HEX SCREWS 
8 SMALL BLACK WASHERS 
8 LARGE 1/4" FENDER WASHERS 

FRONT HARDWARE 

REAR HARDWARE 

A 

B 

C 

D 

A 

B 

C 
D 

FRONT 

REAR 
TOOLS:  
5/16” SOCKET 
LEVEL 



Rear Mud Flap Installation 
Important: It is recommended to read through all instructions prior to starting install 

 

1. Remove Factory screws on fender well.  (FIGURE 4) 
2. With logo facing the rear begin installation 

by fastening mud flap at location A in 
fender well using #10 screws with Small 
and Large washers. (FIGURE 5) 

3. Align remaining holes in flap with 
corresponding factory mounting locations 
(B, C & D) Fasten using #10 screw with 
Small and Large washers (FIGURE 6).  

4. Using a level on bottom of flap or align 
with outside of tire, adjust as needed to 
ensure flap is aligned vertically and 
horizontally to your preference. 

5. Tighten all fasteners & Repeat above steps for opposite side 
FRONT 

  

FIGURE 1 (FRONT) 

FRONT FRONT FRONT 

FIGURE 2 (FRONT) FIGURE 3 (FRONT) 



 
 
 

DRILL ¼” HOLE IN LINER USING 
EXISTING HOLE ON BACK SIDE 
AS GUIDE 

A 
 

B
 

DRILL 

FIGURE 3  

A 

B 

REAR REAR REAR 

FIGURE 4 (REAR) FIGURE 5 (REAR) FIGURE 6 (REAR) 

REAR FRONT 


